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"Combine - Harvestor," is a popular farm machinery used for the following purpose(s) in rice
and wheat crop farming:

1. Harvesting only

2. Harvesting and Threshing
3. Weeding

4. Land leveling

Options :
2105293601. 1
2105293602. 2
2105293603. 3
2105293604. 4

Question Number : 2 Question Id : 210529902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement |: A Malviya seed-cum fertilizer drill which is a two-row machine with adjustable
row spacing and sowing depths has been developed at the CRIDA, Hyderabad

Statement |I: If the rapeseed and mustard crop are harvested at 20% and above moisture
level, they do not require drying

In the light of the above statements, choose the most appropriate answer from the options
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement [l is true

Options :
2105293605. 1
2105293606. 2
2105293607. 3
2105293608. 4

Question Number : 3 Question Id : 210529903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List I List 11
A. Root rot of cotton l. Pythium myriotylum

B. Rhizome rot of ginger I, Rasellinia necatrix

C. Root rot of apple ll. Rhizoctonia bataticola

D. Black scurf of potato V. Rhizoctonia solant

Choose the correct answer from the options given below:

1. Al B-111, C-1V, D-1
2. A-IV, B4, -, DA
3. A-ll, B-I, C-lI, D-1V
4. A-l, B-lIl, C-I, D-IV
Options :
21052936009. 1
2105293610. 2

2105293611.3
2105293612. 4

Question Number : 4 Question Id : 210529904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Seed rate for the cultivation of red gram, in kg/ha is

1.12-15 kg / ha
2.6-8kg/ha
3.25-30kg / ha
4.30-35kg / ha
Options :
2105293613. 1
2105293614. 2

2105293615.3
2105293616. 4

Question Number : 5 Question Id : 210529905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Share of agriculture and allied sectors in India’s GDP (%) during 2018 — 19

1.15%

2. 20%

3 2R

4. 30%

Options :
2105293617. 1
2105293618. 2

2105293619. 3
2105293620. 4

Question Number : 6 Question Id : 210529906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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Ploughing in wetlands is called

1. Tillage

2. Puddling

3. Leveling

4. Harrowing

Options :
2105293621. 1
2105293622. 2

2105293623.3
2105293624. 4

Question Number : 7 Question Id : 210529907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
Ratio of standard deviation to mean is

1. Standard error
2. Coefficient of variation
3. t-value
4. Critical difference
Options :
2105293625. 1
2105293626. 2

2105293627. 3
2105293628. 4

Question Number : 8 Question Id : 210529908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



RLEGP — one of the major rural development programmes is meant for

1. Rural Land — Owners
2. Rural — Landless
3. Rural — Educated
4, Rural — Farmers
Options :
2105293629. 1
2105293630. 2

2105293631.3
2105293632. 4

Question Number : 9 Question Id : 210529909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The first high yielding variety (HYV) of rice, JAYA was released by Indian Council of Agricultural
Research (ICAR) in the year

1. 1966

2. 1968

3. 197

41972

Options :
2105293633. 1
2105293634. 2

2105293635. 3
2105293636. 4

Question Number : 10 Question Id : 210529910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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Which one of the following food crops is widely known as an industrial crop due to its
extensive use in the livestock/ poultry/biofuel industry?

1. Sugarcane
2. Maize
3. Cotton
4, Wheat

Options :
2105293637. 1
2105293638. 2
2105293639.3
2105293640. 4

Question Number : 11 Question Id : 210529911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Match the List-1 with List-l

List-| List-lI

A. Common bread wheat |. Triticum durum

B. Macaroni wheat i ;
1, Triticum dicoccum

C. Emmer Wheat Ill. Triticum aestivum

: I\, Triticurm monococcum
. Binkorn wheat

Select the correct option:

1. A-ll, B-1l, C-IV, D-
2. A-lll, B-1, C-1V, D-I
3. A-lll, B-1N, C-I, D-IV
4, A-ll, B-I, C-ll, D-IV

Options :
2105293641. 1
2105293642. 2
2105293643. 3
2105293644. 4

Question Number : 12 Question Id : 210529912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List 1l

A. Rice |. Capsule borer
B. Sesame II. Pink bollworm
C. Cotton I1l. White grub
D. Chickpea IV. Gundhi bug

Choose the correct answer from the options given below:

TA-NLE-LC-ILD-1IV
ZA-1LB-1,C-1I,D-1V
3A-IV,B-1,C-1I,D-1lI
4 A-1,B-1ILC-IV,D-1l

Options :
2105293645. 1
2105293646. 2
2105293647. 3
2105293648. 4

Question Number : 13 Question Id : 210529913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | and List 1l

List | List Il

A. Benzoic acids l. Propanil

B. Chlorophenoxy compounds I, Propham, Barban
C. Anilides lll. Dicamba, Amiben
D. Carbamates V. 2,4-D, MCPA

Choose the correct answer from the options given below:

1. A-1l, B-, C-IV, D-
2. A-lll, B-l, C-1, D-IV
3. A-ll, B-1, C-IV, D-II
4, A-lll, B-IV, C-1, D-lI

Options :
2105293649. 1
2105293650. 2
2105293651. 3
2105293652. 4

Question Number : 14 Question Id : 210529914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Arrange the following procedural steps of scientific investigation in the correct order
A. Report writing

B. Questionnaire

C. Analysis

D. Data collection

E. Tabulation

Choose the correct answer from the options given below

1.D,B,ECA
2Z2EDCBA
3.CBEDA
4 B,D,EC A

Options :
2105293653. 1
2105293654. 2
2105293655. 3
2105293656. 4

Question Number : 15 Question Id : 210529915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the Rural Development Programmes implemented in India from the earliest to most
recent

A. CDP

B. DWCRA

C. PMFBY

D. NFSM

E. IRDP

Choose the correct answer from the options given below:

1.AEBDC
2EABDC
3.A,B,ED,C
4 EBACD
Options :
2105293657.
2105293658.

2105293659.
2105293660.

AW N~

Question Number : 16 Question Id : 210529916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Widely distributed and cultured fish species in the world is/are
A. Silver Carp

B. Grass Carp

C. Common Carp

D. Labeo rohita

E. Mahseer

Choose the correct answer from the options given below:

1. B only

2. A, B only

3. A, Conly

4 A CDandE

Options :
2105293661. 1
2105293662. 2
2105293663. 3
2105293664. 4

Question Number : 17 Question Id : 210529917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Huskless variety of barley is

1. Manjula
2. KK141
3. Dolma
4 RS6

Options :
2105293665. 1
2105293666. 2
2105293667. 3
2105293668. 4

Question Number : 18 Question Id : 210529918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
Gladiolus is propagated by the method of

1. True seed

2. Bulbs

3. Stem cutting
4. Roots

Options :
21052936609. 1
2105293670. 2
2105293671. 3
2105293672. 4

Question Number : 19 Question Id : 210529919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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The gestation period in the cow is

1. 230-235 days
2. 280-285 days
3. 305-310 days
4, 315-320 days
Options :
2105293673. 1
2105293674. 2

2105293675.3
2105293676. 4

Question Number : 20 Question Id : 210529920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: Deflating procedure can be used for retaining continuity in the
comparison between two or more index series

Statement |I: The sum of squared deviations is the least when taken from the mean

In light of the above statements, choose the most appropriate answer from the options
given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but statement | is false
4. Statement | is incorrect but Statement [l is true

Options :



2105293677. 1
2105293678. 2
2105293679. 3
2105293680. 4

Question Number : 21 Question Id : 210529921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Vertisol is the common soil order for the red soils.
Statement Il: Brackish water has nitrate salts.

In light of the above statements, choose the most appropriate answer from the given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement [l is true

Options :
2105293681. 1
2105293682. 2
2105293683.3
2105293684. 4

Question Number : 22 Question Id : 210529922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Surabhi, Suraj, Supriya l. Rice
B. Lalit, Shweta, Arka Kiran IIl. Chickpea
C. PAU 201, Gontra Bidhan, Pusa Sugandh Il Cotton
D. Vijay, Vishal, and Virat V. Guava

Choose the correct answer from the options given below:

1. A-ll, B-1, C-1V, D-1II
2. A-llL B-1V, C-1, D1
3. A-ll, B-I, C-lI, D-1V
4. A-l, B-Nl, C-1l, D-1IV
Options :
2105293685. 1
2105293686. 2

2105293687. 3
2105293688. 4

Question Number : 23 Question Id : 210529923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
10 ppm of available phosphaorus in the soil is equivalent to

1.20 kg / ha
2:15 kg / ha
3.10 kg / ha
4. 100 kg /ha



Options :
2105293689. 1
2105293690. 2
2105293691. 3
2105293692. 4

Question Number : 24 Question Id : 210529924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Soil air contains higher concentration of

1. Hydrogen

2. Carbondioxide

3. Nitrogen

4, Helium

Options :
2105293693. 1
2105293694. 2

2105293695. 3
2105293696. 4

Question Number : 25 Question Id : 210529925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Which one of the following is the eligibility criteria for the recently announced "PM - KISAN
SAMMAN" scheme?

1. Individual with less than one-hectare land

2. Family as a unit with less than one-hectare land
3. Individual with more than one-hectare land

4. Family as a unit with more than one-hectare land
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Options :
2105293697. 1
2105293698. 2
2105293699. 3
2105293700. 4

Question Number : 26 Question Id : 210529926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
Difference between the value of exports and the value of imports is

1. Balance of payment

2. Terms of trade

3. Market surplus

4. Market margin

Options :
2105293701. 1
2105293702.2
2105293703.3
2105293704. 4

Question Number : 27 Question Id : 210529927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
Market prices that are above equilibrium tend to create

1. Surpluses of goods

2. Declines in resource costs
3. Shortage of goods

4. Buyers' market



Options :
2105293705. 1
2105293706. 2
2105293707. 3
2105293708. 4

Question Number : 28 Question Id : 210529928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
The type of market situation wherein the kinked demand curve is observed is

1. Oligopoly

2. Monopoly

3. Monopolistic

4. Perfect

Options :
2105293709. 1
2105293710. 2

2105293711.3
2105293712. 4

Question Number : 29 Question Id : 210529929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
‘Ryothwari” system was initially introduced in

1. Agra
2. Hyderabad

3. Coimbatore
4. Bombay

Options :
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2105293713. 1
2105293714. 2
2105293715.3
2105293716. 4

Question Number : 30 Question Id : 210529930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The cost of application of fertilizer by family labour is referred to as

1. Marginal cost

2. Sunk cost

3. Imported cost

4. Opportunity cost

Options :
2105293717. 1
2105293718. 2

2105293719. 3
2105293720. 4

Question Number : 31 Question Id : 210529931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Which of the following is considered to fall under the Deductive method of economic
investigation?

1. Engel's Law of Family Expenditure
2. Malthusian Theory of Population
3. Distribution Theory
4. Consumer's Surplus
Options :

2105293721. 1

2105293722.2

2105293723.3

2105293724. 4

Question Number : 32 Question Id : 210529932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Patents and copyrights are

1. Material and transferable goods
2. Non-material and non-transferable goods
3. Material and non-transferable goods
4. Non-material and transferable goods
Options :

2105293725. 1

2105293726. 2

2105293727.3
2105293728. 4
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Question Number : 33 Question Id : 210529933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
The sufficient condition of consumer's equilibrium under indifference curve analysis is

1. MRS is decreasing

2. MRS = PR

3. MRS = PR

4. Indifference curve is concave to the origin

Options :
2105293729. 1
2105293730. 2
2105293731.3
2105293732. 4

Question Number : 34 Question Id : 210529934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Stock and supply are same for

1. Farm machinery
2. lran

3. Mille

4, Automobiles

Options :
2105293733. 1
2105293734. 2
2105293735.3
2105293736. 4



Question Number : 35 Question Id : 210529935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The total output produced in a year multiplied with the market prices prevalent during the
same year gives

1. GNP at market prices
2. NNP at factor prices
3. NNP at market prices
4. GNP at factor prices
Options :

2105293737. 1

2105293738. 2

2105293739.3
2105293740. 4

Question Number : 36 Question Id : 210529936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A country's economy can be increased by imposing more tax on goods whose consumer's
surplus is

1. High

2. Low

3. Zero

4. Not constant

Options :
2105293741. 1
2105293742. 2
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2105293743.3
2105293744. 4

Question Number : 37 Question Id : 210529937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

When the price for 'out of fashion goods' is decreased, demand will

1. Increase

2. Constant

3. Bxtend

4, Remain same

Options :
2105293745. 1
2105293746. 2

2105293747. 3
2105293748. 4

Question Number : 38 Question Id : 210529938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The kind of money for which the intrinsic value is equal to the face value is

1. Token money

2. Paper money

3. Standard money

4. Bank cheque

Options :
2105293749. 1



2105293750. 2
2105293751.3
2105293752. 4

Question Number : 39 Question Id : 210529939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The market situation wherein all the sugarcane farmer-producers are bound to supply their
produce to a farmer's co-operative sugar factory in that area is known as

1. Oligopoly
2. Oligopsony
3. Monopoly
4, Monopsony
Options :
2105293753. 1
2105293754. 2

2105293755.3
2105293756. 4

Question Number : 40 Question Id : 210529940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Leather in a shoe factory is considered as

1. Sunk capital

2. Circulating capital
3. Floating capital
4. Operating cost
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Options :
2105293757. 1
2105293758. 2
2105293759. 3
2105293760. 4

Question Number : 41 Question Id : 210529941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Under perfect competition market situation, the marginal revenue (MR) line coincides with the

1. MC curve
2. AR curve
3. OC curve
4. TR curve

Options :
2105293761. 1
2105293762. 2
2105293763.3
2105293764. 4

Question Number : 42 Question Id : 210529942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



The value of national output produced by residents with in the country, after depreciation and
excluding the influence of taxes and subsidies is known as:

1. NNP at factor cost
2. NNP at market price
3. NDP at market price
4. NDP at factor price
Options :
2105293765. 1
2105293766. 2

2105293767. 3
2105293768. 4

Question Number : 43 Question Id : 210529943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

"If a service of any kind is open to one member it should be extended to all member countries
in equal measure” is the principle provided under GATS through

1. TRIPS

2. TRIMS

3. ADA

4. MFN

Options :
2105293769. 1
2105293770. 2

2105293771.3
2105293772. 4
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Question Number : 44 Question Id : 210529944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: The present value of the future sum is the current value of the investment to be
received in the future.

Statement |I: Future value of present sum is an important concept in financial analysis and
this is called Compounding.

In the light of the statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement I is false
4, Statement | is incorrect but Statement 1l is true

Options :
2105293773. 1
2105293774. 2
2105293775.3
2105293776. 4

Question Number : 45 Question Id : 210529945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: In international trade, a loan that may be repaid in the borrowers' currency is
called Soft Loan.

Statement |I: The period required for the investment in a project to produce a visible return is
called the payback period.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement [l is true

Options :
2105293777. 1
2105293778. 2
2105293779. 3
2105293780. 4

Question Number : 46 Question Id : 210529946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List |

List 1l

A. Government's spending and revenue producing
activity

|.Evaluation

B. Careful and continuous assessment of the
changes that occur in agro, socio and economic
environment

I, Shadow prices

C. Charges reflecting the estimates of wear and tear
of physical capital

I1l. Fiscal policy

D. The present value of additional consumption
generated by an additional unit of investment in a
project

IV. Capital
consumption
allowance

Choose the correct answer from the options given below:

TA-NLB-IV,C-Il, -1
ZA-NLB-1,C-IN,D-1
3A-ILB-IV,C-1,D-1l
4A-L,B-ILC-IV,D-1l
Options :

2105293781. 1

2105293782. 2

2105293783. 3
2105293784. 4




Question Number : 47 Question Id : 210529947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List I with List 1l

List | List I
A. All India Rural Credit Survey
, I. 1904
Committee
B. Cooperative Societies Act Il 1971
C. Land Mortgage Bank L. 1951
V. 1920

D. Farmers Service Societies

Choose the correct answer from the options given below:

TA-N,B-l,C-N,D-1l
ZA-1L,B-I,C-1l,D-Il
3A-IV,B-I,C-IIl,D-1
4 A-ILB-ULC-1IV,D-I

Options :
2105293785. 1
2105293786. 2
2105293787.3
2105293788. 4

Question Number : 48 Question Id : 210529948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



WWW.AGRIGYAN.IN

Arrange the phases in the project cycle in the correct order
A. Evaluation

B. Monitoring

C. Appraisal

D. Formulation

E. Identification

Choose the correct answer/seguence from the options given below:

1.ED,C B A
2D ECBA
A DECBH
4 A EDCB

Options :
2105293789. 1
2105293790. 2
2105293791.3
2105293792. 4

Question Number : 49 Question Id : 210529949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The Central Cooperative banks normally operate at

1. State lavel

2, District level

3. Mandal level

4. Village level

Options :
2105293793. 1
2105293794. 2
2105293795.3
2105293796. 4

Question Number : 50 Question Id : 210529950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



WWW.AGRIGYAN.IN
Match List | with List Il

List | List 11

A. Grading |. To overcome distress sales

B. Processing 1. Value addition

C. Market Finance Ill. To overcome price risk

D. Hedging IV. Quality and purity of goods

Choose the correct answer from the options given below:

TA-IV,B-1,C-1,D-1l
ZA-IV,B-IIILC-1,D-1
A=, B=N:C- |, D= |li
4 A-1,B-1,C-1V, D-l

Options :
2105293797. 1
2105293798. 2
2105293799. 3
2105293800. 4

Question Number : 51 Question Id : 210529951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List 11
A. ESS l. Mohan Kanda
B. Single Window System || g\ Team
CoBabs Ill. National Commission on Agriculture
D. LAMPS

V. M. Narasimham

Choose the correct answer from the options given below:

TA-LB-ILC-ILD-1IV
ZA-1, B=NC-ll, -]
FA-ILB-ULC-1V D-
4 A-MLE-LC-IV,D-Il

Options :
2105293801. 1
2105293802. 2
2105293803. 3
2105293804. 4

Question Number : 52 Question Id : 210529952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



The possibility of occurrence of economies of scale is in

LY =f(X/Xz. X5, . Xp)
2V = XX i )
¥ =T (XXX X5)
4.Y=fhbla/V )
Options :

2105293805. 1
2105293806. 2
2105293807. 3
2105293808. 4

Question Number : 53 Question Id : 210529953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The type of farming with the greater risk is

1. Diversified
2. Specialized
3. Mixed

4. Ranching
Options :
2105293809. 1
2105293810.2

2105293811.3
2105293812. 4

Question Number : 54 Question Id : 210529954

Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The farm management principle that guides the farmer to plan for specialized or diversified
farming is

1. Opportunity cost principle

2. Principle of comparative advantage
3. Law of diminishing marginal returns
4. Time comparison principle

Options :

2105293813. 1

2105293814. 2

2105293815.3
2105293816. 4

Question Number : 55 Question Id : 210529955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

When MC is above AC, the average cost curve

1. Is rising

2. Is falling

3. Remains constant

4. Runs parallel to Fixed cost curve
Options :

2105293817. 1

2105293818.2

2105293819.3
2105293820. 4

Question Number : 56 Question Id : 210529956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



The technical efficiency of both variable and fixed resources is increasing in

1. | Zone only

2. |l Zone only

3. lll Zone only

4, Both Il and lll Zones

Correct Marks : 4 Wrong Marks : 1
Options :
2105293821. 1
2105293822.2
2105293823.3
2105293824. 4

Question Number : 57 Question Id : 210529957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

After SBI, which is the second-largest Public Sector Bank, in India?

1. Indian Overseas Bank (IOB)
2. Central Bank of India (CBI)
3. Punjab Mational Bank (PNB)
4, Union Bank of India (UBI)
Options :

2105293825. 1

2105293826. 2

2105293827.3
2105293828. 4

Question Number : 58 Question Id : 210529958

Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Three maxims of cooperation were proposed by

1. H. Plunkett

2. LM. Keynes

3. Mahatma Gandhi
4, Dandekar
Options :
2105293829. 1
2105293830. 2
2105293831. 3
2105293832. 4

Question Number : 59 Question Id : 210529959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Lead Bank Scheme was recommended by

1. Dandekar Committee

2. Nariman Committee

3. V.L. Mehta Committee

4. Chidambaram Committee
Options :

2105293833. 1

2105293834.2

2105293835.3
2105293836. 4

Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Marginal efficiency of capital or yield on investment is called

1. NPV

2. Payback period
3. IRR

4. BCR

Question Number : 60 Question Id : 210529960
Options :

2105293837. 1

2105293838. 2

2105293839. 3

2105293840. 4

Question Number : 61 Question Id : 210529961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
Isoquants are linear when resources are

1. Compliments

2. Competitive

3. Perfect substitutes
4. Perfect compliments
Options :
2105293841. 1

2105293842. 2
2105293843. 3

Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



the Ridge Line, Margi ! ict of an input will be
On the Ridge Line, Marginal Physical Product of an input wil

1. Zero

2. Constant
3. Positive

4. Negative
2105293844. 4

Question Number : 62 Question Id : 210529962
Options :

2105293845. 1

2105293846. 2

2105293847.3

2105293848. 4

Question Number : 63 Question Id : 210529963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT a system of farming?

1. Joint farming

2. State farming

3. Rainfed farming
4. Collective farming
Options :
2105293849. 1

Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



2105293850. 2
2105293851.3
2105293852. 4

Question Number : 64 Question Id : 210529964

Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Capital obtained from own savings, gifts, etcis

1. Debt Capital

2. Equity Capital
3. Paid-up Capital
4, |ssued Capital
Options :
2105293853. 1
2105293854. 2

2105293855.3
2105293856. 4

Question Number : 65 Question Id : 210529965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The Benefit-Cost ratio gives green signal to investors if it is

1. equal to one

2. greater than one

3. equal to or greater than one
4, less than one
Options :
21052938571
2105293858. 2

2105293859.3
2105293860. 4

Question Number : 66 Question Id : 210529966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Which one of the following does NOT change with the volume of activity?

1. Master budget
2. Functional budget
3. Stationary budget
4. Flexible budget

Options :

2105293861. 1
2105293862. 2
2105293863.3
2105293864. 4

Question Number : 67 Question Id : 210529967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Who was the first governor of RBI?

1. Sir Oshorne Smith

2. Sir Bengal Rama Rao

3. Sir James Braid Taylor

4. Sir Chintaman and D. Deshmukh

Options :

2105293865. 1
2105293866. 2
2105293867.3
2105293868. 4

Question Number : 68 Question Id : 210529968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Who has been credited for the creation of micro-financing banks?

1. Mohammad Ali

2. Mohammad Amir
3. Mohammad Irshad
4, Mohammad Yunus

Options :

2105293869. 1
2105293870. 2
2105293871.3
2105293872. 4

Question Number : 69 Question Id : 210529969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT an external factor affecting production?

1. Market prices

2. Selection of the farm
3. Weather

4. Government policy

Options :

2105293873. 1
2105293874. 2
2105293875.3
2105293876. 4

Question Number : 70 Question Id : 210529970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

A firm doubles all inputs in the long run and total output less than doubles. It is a case of

1. Diminishing returns

2. Constant returns to scale
3. Increasing returns to scale
4. Decreasing returns to scale
Options :
2105293877. 1
2105293878. 2

2105293879. 3
2105293880. 4

Question Number : 71 Question Id : 210529971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

For the production function ¥ = 20 + 0. 2X - 0.001X2 , when P, =Rs 5 /unit and Py =Rs 100/
unit; the maximum output will occour at input level of

1. 200

2. 100

3.50

4,75
Options :
2105293881. 1
2105293882. 2

2105293883.3
2105293884. 4



Question Number : 72 Question Id : 210529972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A vegetable producer wants to maximize his profit by growing cabbage.
F

Suppose the demand function is P =40 - 0.02 Q Where P is the price in Rupees per unit of
cabbage and

the cost function is C = 20 Q + 400 where Q is the Quantity daily produced.
His profit will be maximum at the output level of

1. 200 units
2. 500 units
3. 1000 units
4,400 units

Options :

2105293885. 1
2105293886. 2
2105293887.3
2105293888. 4

Question Number : 73 Question Id : 210529973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Which one of the following is the first training group of the human race?
A. Family

B. Community

C. Farmer's group

D. Group of Youth

1. A only

2. B and C only

3. Cand D only

4. B, C and D only
Options :
2105293889. 1
2105293890. 2

2105293891.3
2105293892. 4

Question Number : 74 Question Id : 210529974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
Principie of learning by doing involves use of:

1. Maximum number of senses
2. Seeing

3. Seeing and hearing

4. Seeing, tasting, touching
Options :



2105293893. 1
2105293894. 2
2105293895. 3
2105293896. 4

Question Number : 75 Question Id : 210529975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

To increase the milk production of buffalo within month is the example of

1. Objective
2, Aim

3. Goal

4. Target

Options :

2105293897. 1
2105293898. 2
2105293899. 3
2105293900. 4

Question Number : 76 Question Id : 210529976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following is/are based on improving knowledge?
A. Cognitive domain

B. Psychomotor domain

C. Affective domain

D. Adoption domain

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, B and C only
4 A B CandD

Options :

2105293901. 1
2105293902. 2
2105293903. 3
2105293904. 4

Question Number : 77 Question Id : 210529977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Regarding the Cone of Experience which one is necessary when real experience cannot be
used or is too complicated?

1. Direct Purposeful Experience
2. Continual Experience

3. Demanstration

4, Dramatized Experience

Options :

2105293905. 1
2105293906. 2
2105293907. 3
2105293908. 4

Question Number : 78 Question Id : 210529978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Extension work in Japan was first started by

1. Government

2. NGOs

3. Co-operatives

4. Farmers' organisation

Options :

21052939009. 1
2105293910. 2
2105293911.3
2105293912. 4

Question Number : 79 Question Id : 210529979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



The members of this group are alike (or) similar in status (or) position in the class system of
the society is called a

1. Horizontal group
2. Vertical group

3. In group

4. Reference group
Options :
2105293913. 1
2105293914.2

2105293915.3
2105293916. 4

Question Number : 80 Question Id : 210529980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Summative Evaluation is conducted in which of the following stage(s)?
A. Pre-implementation stage

B. Implementation stage

C. Interim implementation stage

D. Post-implementation stage

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only
4, D only

Options :

2105293917. 1
2105293918. 2
2105293919. 3
2105293920. 4

Question Number : 81 Question Id : 210529981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Unfelt need is the need, of which people are aware at present. This is also called
a recognized need.

Statement lI: Felt need is the need, of which people are not aware at present.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement [l is true
Options :
2105293921. 1
2105293922, 2

2105293923.3
2105293924. 4

Question Number : 82 Question Id : 210529982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List II
A. Shri Niketan Project l. 1903
B. Ideal Village Project Il. 1948
C. Etawah Pilot Project I, 1920
D. National Extension Service IV. 1953

Choose the correct answer from the options given below:

TA-NLB-LC-1ILD-1IV
ZA-1L,B-1,C-1,D-1V
JA-1L,B-N,C-1I,D-1V
4 A-IVB-1II,C-M,D-1
Options :

2105293925. 1
2105293926. 2

2105293927.3
2105293928. 4

Question Number : 83 Question Id : 210529983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. Krishi Vigyan Kendra |. Government of India
B. Training for rural youth for self-employment |II. S. K Dey
C. Nilokheri Project 1. ICAR
D. India Village Service V. W H Wisher

Choose the correct answer from the options given below

TA-ILB-UL,C-1V,D-]I
ZA-1L,B-1L,C-1,D-1V
JA-NLB-LC-1,D-1V
4 A-IVB-1I,C-1,D-1
Options :

2105293929. 1
2105293930. 2

2105293931.3
2105293932. 4

Question Number : 84 Question Id : 210529984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Perfection is seldom achieved without practice
Statement |I: Learning to use a sprayer correctly does not require practice several times over

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement [l is true

Options :

2105293933. 1
2105293934. 2
2105293935. 3
2105293936. 4

Question Number : 85 Question Id : 210529985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one is the correct sequence of steps in Extension teaching?
A. Interest, Attention, Conviction, Action, Satisfaction

B. Interest, Conviction, Desire, Satisfaction, Action

C. Attention, Interest, Desire, Conviction, Action, Satisfaction

D. Conviction, Attention, Desire, Action, Satisfaction

Choose the correct answer from the options given below

1. A only
2. A and B only
3. C only
4, D only

Options :

2105293937. 1
2105293938. 2
2105293939. 3
2105293940. 4

Question Number : 86 Question Id : 210529986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



In case of social stratification, the determinants of status are:

1. Wealth

2. Ancestory

3. Functional utility of the individual

4. Religion and Biological characteristics - age, sex etc
Options :
2105293941. 1
2105293942. 2

2105293943.3
2105293944. 4

Question Number : 87 Question Id : 210529987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |: Most of the social changes that took place in the earlier years in India, were
planned and directed

Statement |I: Social change can be predicted with a certain degree

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement [l is true

Options :



2105293945. 1
2105293946. 2
2105293947. 3
2105293948. 4

Question Number : 88 Question Id : 210529988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among many factors which factors make changes in Production, Communication, Transport,
Discovery, Inventions, Industrialization and Urbanization

1. Biological factors

2. Physical factors

3. Technological factors
4. Media factors
Options :
2105293949. 1
2105293950. 2

2105293951.3
2105293952. 4

Question Number : 89 Question Id : 210529989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Which one of the following leaders does not want to compromise in any way with their
principles?

1. Political

2. Diplomatic
3. Agitators
4. Reformers
Options :
2105293953. 1
2105293954. 2

2105293955.3
2105293956. 4

Question Number : 90 Question Id : 210529990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Formal control is the main characteristic of traditional rural leadership

Statement |I: Rural life in India has been more socio-cultural than politico-economical in
nature

In the light of the above statements choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement [l is true
Options :
2105293957. 1
2105293958. 2

2105293959.3
2105293960. 4

Question Number : 91 Question Id : 210529991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

If a teacher is on the dias 30 feet away from the last row of the students, what should be the
height of every letter teacher writes on the blackboard?

1. At least 1.5 to 2 inches
2. At least 2 to 4 inches

3. At least 0.5 to 1 inches
4. At least 3 to 3.5 inches



Options :

2105293961. 1
2105293962. 2
2105293963. 3
2105293964. 4

Question Number : 92 Question Id : 210529992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement |: In drawing and painting, black and white are not considered to be colours

Statement II: Yellow colour is not considered as one of the primary colours in drawing and
painting

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement I is false
4, Statement | is incorrect but Statement 1l is true
Options :

2105293965. 1

2105293966. 2

2105293967. 3
2105293968. 4

Question Number : 93 Question Id : 210529993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

The ideal size of a flashcard to be used in a group of 30 farmers should be of

1.5 - 8 inches

2.10 - 12 inches

3.12 - 15 inches

4. more than 15 inches

Options :

21052939609. 1
2105293970. 2
2105293971.3
2105293972. 4

Question Number : 94 Question Id : 210529994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Which of the following is known as picture drama?

A. Planned graph

B. Flashcards

C. Poster

D. Puppet

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only
4 A B CandD

Options :

2105293973. 1
2105293974. 2
2105293975. 3
2105293976. 4

Question Number : 95 Question Id : 210529995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



What principle of projection work in the case of overhead projectors?
2

1. Indirect

2. Direct

3. Reflected

4. Both Indirect and Direct
Options :

2105293977. 1
2105293978.2

2105293979.3
2105293980. 4

Question Number : 96 Question Id : 210529996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
In which of the following projectors, the loss of light is maximum?

1. Opaque projector
2. Slide projector

3. Film projector

4. Overhead projector
Options :
2105293981. 1
2105293982. 2

2105293983. 3
2105293984. 4

Question Number : 97 Question Id : 210529997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Who said that - the sole purpose of communication is to influence people. The persuasive
function of communication, i.e, to induce people, is extremely important for extension in
changing their behaviour.

1. Aristotle

2. Leagans

3. Berlo

4. Rogers and Shoemakers

Options :

2105293985. 1
2105293986. 2
2105293987. 3
2105293988. 4

Question Number : 98 Question Id : 210529998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following concepts in Model of Communication has been given by Leagans
(1963)?

A. Treatment and Presentation

B. Audience Response

C. Feedback

D. Speech

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only
4 A B CandD

Options :

2105293989. 1
2105293990. 2
2105293991. 3
2105293992. 4

Question Number : 99 Question Id : 210529999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List [l

A. David Berlo (1960) |I. Source, Encoder, Signal, Decoder, Destination

B. Shanon - Weaver

Il. Source, Message, Channel, Receiver, Effects
(1949)

lll. Source, Encoder, Message, Channel,
C. Schramm (1961) .
Decoder, Receiver

D. Rogers and V. Source, Transmitter, Signal, Receiver,
Shoemakers Destination

Choose the correct answer from the options given below

T.A-LB=I, C-|, D=1l
ZA-1,B-ULC=-1,D-1V
JA-IV,B-I,C-ILD-]
4 A-1,B-IILC-IV,D-1l

Options :

2105293993. 1
2105293994. 2
2105293995. 3
2105293996. 4

Question Number : 100 Question Id : 2105291000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement |: Extension communication is never complete without feedback information

Statement Il: "Feedback” has not been considered to be an essential element in different

models of communication

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement [l is true

Options :

2105293997. 1
2105293998. 2
2105293999. 3
2105294000. 4

Question Number : 101 Question Id : 2105291001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



According to the nature of the personnel involved, channels of communication are categorized
as:

A. Personal localite

B. Personal cosmopolite

C. Impersonal cosmopolite

D. Impersonal localite

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only
4 AllA B, Cand D

Options :

2105294001. 1
2105294002. 2
2105294003. 3
2105294004. 4

Question Number : 102 Question Id : 2105291002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement |: Channel of communication constitute the medium through which information
flows from a sender to one or more receivers

Statement |I: Media is the message

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement [l is true

Options :

2105294005. 1
2105294006. 2
2105294007. 3
2105294008. 4

Question Number : 103 Question Id : 2105291003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The psychological barriers of communication include:

A. Fields of experience

B. Filtering

C. Psychological distance

D. Stubbornness

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only
4 AllA B, CandD

Options :

21052940009. 1
2105294010. 2
2105294011. 3
2105294012. 4

Question Number : 104 Question Id : 2105291004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are the proccess barriers of communication?
A. Feedback barrier

B. Decoding barrier

C. Receiver barrier

D. Encoding barrier

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only

4 AllA B, Cand D

Options :
2105294013. 1
2105294014. 2

Question Number : 105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



2105294015. 3
2105294016. 4

Question Id : 2105291005

Question Number : 106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following are the primary colours in drawing and painting?
A. Red

B. Blue

C. Yellow

D. White

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, B and C only

4 AllA B, Cand D

Options :
2105294017. 1
2105294018. 2

Question Number : 107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



2105294019. 3
2105294020. 4

Question Id : 2105291006

Question Number : 108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In colour theory of an artist, which of the following are secondary colours?
A. Green

B. Orange

C. Purple

D. Black

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only

4 AllA B, Cand D

Options :
2105294021. 1
2105294022. 2

Question Number : 109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



2105294023. 3
2105294024. 4

Question Id : 2105291007

Question Number : 110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. Learning through what you do l. 30 percent
B. What you see and hear Il. 70 percent
C. What you say and write Il. 90 percent
D. What you see V. 50 percent

Choose the correct answer from the options given below

TA-NLB-IWV,C-1I,D-I|
ZA-1LB-ULC-1,D-1V
JA-1L,B-1ILC-1,D-1V
4 A-IVB-1,C-1I,D-1l
Options :

2105294025. 1
2105294026. 2

2105294027. 3
2105294028. 4

Question Number : 108 Question Id : 2105291008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

According to the form, which of the following is not the visual aid?

1. Poster

2. Exhibits

3. Farm and Home visit
4, Charts

Options :



2105294029. 1
2105294030. 2
2105294031. 3
2105294032. 4

Question Number : 109 Question Id : 2105291009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
According to the Innovation Decision Process, which of the following are not suitable

extension teaching methods at the 'Implementation’ stage?
A. Friends and relatives

B. Poster and newspapers

C. Result demonstration

D. Local leaders and personal visit

1. A only

2. A and B only

3. A, B and Conly
4 AllA B, Cand D

Options :

2105294033. 1
2105294034. 2
2105294035.3
2105294036. 4

Question Number : 110 Question Id : 2105291010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Write the sequence of stages of the adoption process

A. Awareness

B. Trial

C. Interest

D. Adoption

E. Evaluation

Choose the correct answer from the options given below

1.A EDBC
2B.CADE
3.A,BCDE
4. A CEBD

Options :

2105294037. 1
2105294038. 2
2105294039. 3
2105294040. 4

Question Number : 111 Question Id : 2105291011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List I List Ii
A. Late majority . 2.5 percent
B. Innovators . 13.5 percent
C. Early adopters ll. 34 percent
D. Laggards V. 16 percent

Choose the correct answer from the options given below:

TA-NLE-LC-ILD-1IV
ZA-1,B-ULC=-1,D-1V
3A-IV,B-1,C-1,D-1l
4 A-1,B-IV,.C-IIl,D-1I

Options :

2105294041. 1
2105294042. 2
2105294043. 3
2105294044. 4

Question Number : 112 Question Id : 2105291012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement |: Message is used to convey the source's meaning by means of any codes
Statement II: Meanings of messages are not in people

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement [l is true

Options :

2105294045. 1
2105294046. 2
2105294047. 3
2105294048. 4

Question Number : 113 Question Id : 2105291013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement |: Journalism's first obligation is not the truth
Statement |I: Journalism’s practitioners must maintain dependence from those they cover

In the light of the above statements, choose the most appropriate answer from the options

given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement [l is true

Options :

2105294049. 1
2105294050. 2
2105294051. 3
2105294052. 4

Question Number : 114 Question Id : 2105291014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement |: News is difficult to define because it has many variables
Statement II: News must be factual, yet not all facts are news

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement [l is true
Options :
2105294053. 1
2105294054. 2

2105294055. 3
2105294056. 4

Question Number : 115 Question Id : 2105291015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Which of the following is a communication technigue where the farmer and farm families are
not at home nor in their fields when the extension professional visits?

1. Office call

2. Circular letter
3. Telephone call
4. Flag method

Options :



2105294057. 1
2105294058. 2
2105294059. 3
2105294060. 4

Question Number : 116 Question Id : 2105291016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Internet was started in

1. 1950s
2. 1960s
3. 1970s
4, 19405
Options :
2105294061. 1
2105294062. 2

2105294063. 3
2105294064. 4

Question Number : 117 Question Id : 2105291017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Teleconferencing was started in

1. 1940s

2. 19505

3. 1960s

4. 1970s
Options :
2105294065. 1



2105294066. 2
2105294067. 3
2105294068. 4

Question Number : 118 Question Id : 2105291018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Which of the following are types of teleconferencing?

A. Audio teleconferencing

B. Video teleconferencing

C. Computer teleconferencing

D. Audiographics teleconferencing

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only
4 AllA B, Cand D

Options :

21052940609. 1
2105294070. 2
2105294071. 3
2105294072. 4

Question Number : 119 Question Id : 2105291019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
Which one of the following techniques is used to generate innovative and creative ideas?

1. General meeting
2. Brainstorming

3. Seminar

4, Buzz sessions
Options :
2105294073. 1
2105294074. 2
2105294075.3
2105294076. 4

Question Number : 120 Question Id : 2105291020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1



Which of the following is the most suitable extension teaching method for the problem of rat
control in a rural village?

A, Campaign

B. Group Discussion

C. Group Meeting

D. Radio talk

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, B and C only
4 AllA B, Cand D

Options :

2105294077. 1
2105294078. 2
2105294079. 3
2105294080. 4



